ACTIVITIES COORDINATE GEOMETRY

Activity 1 : Verifying Distance formula
Rubrics
S| No Rubric Max. Marks
01 Plotting Coordinates 3
02 Measuring Line segments 3
03 Selecting appropriate formulae 3
04 Finding distances using formulae 3
05 Comparing Answers and conclusion 3
Total 15

Plot the following pairs of coordinate points in graph sheet and join them.
(i) A(3,1)and B(6, 5)

(i) C(0, 7) and D(6, 15)

(i) P(-4,2) and Q(1, 14)
(iv) Origin ‘O’ and X(-4, -3)
(v) Origin ‘O’ and Y(8, -6)
(vi) Origin ‘O’ and Z(9, 12)

SI_No Line segment Length measured (in cm)
(i) AB
(ii) CD
(iii) PQ
(iv) OX
(v) oY
(vi) 0z




SI_No Line segment Length using formula (in cm)
d=+(;—x)2+ (v, —y)? d = Jx? + y?
(i)
AB
(i)
CD
(iii)
PQ
(iv)
OX
(v)
oY
(vi)
oz

Conclusion :




Activity 2 : Verifying SSS Similarity criterion using distance formula

Rubrics
S| No Rubric Max. Marks
01 Writing Coordinates 3
02 Finding distances using formula 4
03 Calculating Ratios of corresponding sides 4
04 Comparing the ratios 2
05 Conclusion 2
Total 15
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Write the Coordinates of the triangles given in the graph.
AC, ) (BC ., ) ¢ ., ) (pC., ) |QC ., ) |RC,




Find the distance between the points using distance formula.

SI_No Line segment Length using formula (in cm)
d= \/(xz —x1)%+ (¥, — y1)?
(i)
AB
(i)
BC
(iii)
AC
(iv)
PQ
(v)
QR
(vi)

PR




Calculate the ratio of corresponding sides of AABC and APQR.

AB
PQ

BC
QR

AC
PR

Conclusion :




Activity 3 : Verifying area of triangle formula

Rubrics
S| No Rubric Max. Marks
01 Writing Coordinates 3
02 | calculating area of A using % x base x height 4
03 Calculating area A using 4
1
> [x1(y2 = ¥3) + x2(¥y3 — y1) + x3(y1 — ¥2)]
04 Comparing values obtained by both the methods 2
05 Conclusion 2
Total 15
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<7 7
-8 -8
-9 9

Write the Coordinates of the triangles given in the graph.

PC . ) |QC ., ) (RC ., ) [KC., ) |LC. ) M

Area of APQR using % x base x height
Base QR =
Height PQ =

Area of AKLM using % x base x height

Base LM =




Height KO =

Area of APQR using %[%(3’2 —y3) + x,(y3 —y1) + x3(y1 — ¥2)]

Area of AKLM using

N |-

[x1 (72 = ¥3) + x2(y3 — 1) + x3(y1 — ¥2)]

Conclusion :




Activity 4 : Verifying Section formula and Mid-point formula

Rubrics
S| No Rubric Max. Marks

01 Plotting Coordinates 3
02 Bisecting AC and BC 3
03 Finding Ratios manually 3
04 Verifying Mid-point formula 3
05 Verifying Section formula 3

Total 15

v Plot the points A (-3, 1), B (5, 1) and C (1, 8) on graph sheet and join AB, BC and AC to
get a AABC.

v" Now using a pair of compasses, find the mid-points of AC and BC. Mark these mid-points
as P and Q respectively.

v' Mark the point R(-1, 1) on AB.

v Mark the point S(3, 1) on AB.

Write the Coordinates of P and Q.

PC ) el )

R divides AB in the ratio AR : RB =

S divides AB in the ratio AS : SB =

Verify P(x, y) using (xl’;—xz M)

2

P(x,y) =

\Verify Q(x, y) using (xl;—xz %)

Q(x,y) =




Verify

R divides AB in the ratio AR: RB =

using formula R(x, y) :(

mix;,Mpxy  Myyz4May1 )
mq+tmy ’ mq+tmy

Verify

S divides AB in the ratio AS : SB =

myxp;,Mpxy Myyz4:M2y1 )
mi+my ’ mqp+mp

using formula S(x, y) :(

Conclusion :
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